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g d=1sd
S YHPSSaiE (B9 ®R)
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SA - BB B () - MM - BES Ol &t o San HmEET
&It 0t 84,534,325 86,867,823 A 2,333,498
= 48,977,506
Xl 300,000
J| 959,610
< 13,945,444
Al 20,351,765
HEsXsd 1,817,978 1,656,136 161,842
= 220,749
J| 707,356
< 288,884
Al 600,989
dHESEstEA 50,360 50,060 300
< 4,200
Al 46,160
O E M AX A 23,780 23,780 0
203 YR =] 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
OUHEII=E AIMFA 3,000
301 gL = 5,780 5,780 0
09 HALAHIEA S 5,780 5,780 0
O ME2SH & FIIHF3 &It
24 20,0003 30«63 3,600
OS2t (d=>dAF &It E4 100,000 x5H 500
OZE? LA &I 24
14,000& *60H 23] 1,680
307 21201 A 15,000 15,000 0
11T MISXASEX 15,000 15,000 0
OS2 JIg&:HAM XA 15,000
OEHMBARA(EX) 13,150 13,150 0
= 3,600
Al 9,550
307 21201 A 13,150 13,150 0
< 3,600
Al 9,550
11T M3 SXAISEEX 13,150 13,150 0
Ooo4deld 9&2dstus 13,150
< 3,600
Al 9,550
O X& 4,630 4,630 0
201 £B-2dH| 4,630 4,630 0
01 At 22l 4,630 4,630 0
OXFU H3E - 40101 - 213 == - 4= 0l
g W= 1,500
OLHBESRIA EEZE 2 15,000& 20 300
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405 XHoHF S HI 5,500 0 5,500
01 XY 2 ZFH S| 5,500 0 5,500

OSAD A= 5,500
CGE3NEXNLMEH2E X 30,000 30,000 0
301 L2 A= 6,000 0 6,000
01 MEIBZE 06z 6,000 0 6,000

OURUSXNEA =X¢ 6,000
307 21201 A 24,000 30,000 A 6,000
11T MISXASEEX 24,000 24,000 0

OU=RaIERE LdESsAXR 24,000
20tE & O2IEXNMEH 22 516,339 444,347 71,992

J| 177,567

= 111,300

Al 227,472
307 glz2tol & 516,339 444,347 71,992

J| 177,567

< 111,300

Al 227,472
11T M SRASEEX 516,339 444,347 71,992

O2IHE & U2eHEsXNJAEH 29 305,134

| 177,567

< 38,270

Al 89,297

Ot =sotssgd 2¢ 57,990

= 23,196

Al 34,794

OUEIaII=EHE SHIESALA el24H] 46,315

< 16,474

Al 29,841

OZE0I2UX Hg=EHWS 12,000

S 4,800

Al 7,200

OUIseE d=s5eA 21,400

< 8,560

Al 12,840

OU=23IIE DEULS0l A 32,000

< 6,400

Al 25,600

ot2st a4 M2 X 7,000

< 2,800

Al 4,200

OZs0leXt sdXI& 4,500

< 1,800

Al 2,700

OUZsE8E 2SR AY 30,000

< 9,000




SN HEED
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 21,000
AUgs @ JUME s S$R2USAHHA T3 127,800 0 127,800
J| 89,460
< 12,780
Al 25,560
307 glz2tol & 127,800 0 127,800
J| 89,460
< 12,780
Al 25,560
11T M SXASE EX 127,800 0 127,800
OXdgs & ItHME & YRusAHH A X
2 127,800
J| 89,460
< 12,780
Al 25,560
st=0lus 29 22,162 0 22,162
J| 15,513
< 2,216
Al 4,433
307 gl2tol & 22,162 0 22,162
J| 15,513
< 2,216
Al 4,433
11T M SXALSE EX 22,162 0 22,162
Oost=0ns 249 22,162
J| 15,513
< 2,216
Al 4,433
ZE0I2A SHAMHA XA 51,696 0 51,696
J| 36,187
< 5,170
Al 10,339
307 glz2+ol & 51,696 0 51,696
J| 36,187
< 5,170
Al 10,339
11T MISAASEX 51,696 0 51,696
OZ&0l2UX SHAAMHIA X 51,696
J| 36,187
< 5,170
Al 10,339
Ch2sttEsE dHEEXE 29,456 0 29,456
J| 20,619
< 2,945
Al 5,892
307 21201 A 29,456 0 29,456
J| 20,619
= 2,945
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Al 5,892

11T MISXASEX 29,456 0 29,456
Ot==IIEXH doge X2 29,456
J| 20,619
< 2,945
Al 5,892

OISAHOIIZE# I LAY 14,076 0 14,076
J| 9,854
< 1,407
Al 2,815

307 21201 A 14,076 0 14,076
J| 9,854
< 1,407
Al 2,815

11T MISXASEEX 14,076 0 14,076
O0IS0IE 3 AY 14,076
J| 9,854
< 1,407
Al 2,815

SHE2IIEX & 412,000 303,900 108, 100
J| 226,800
< 67,850
Al 117,350

NAS SEUNHE M AE(BEX) 123,500 135,000 A 11,500
< 37,000
Al 86,500

301 gt d= 123,500 135,000 A 11,500
< 37,000
Al 86,500

01 MI2ZE 6= 123,500 135,000 A 11,500
ONAS BR2IIE M XEXZAY 123,500
< 37,000
Al 86,500

AU 282 THEX& 4,000 0 4,000
J| 3,200
= 400
Al 400

301 et a = 4,000 0 4,000
J| 3,200
< 400
Al 400

01 MEIBEE 2053 4,000 0 4,000
OFAHEREE NHEXA 4,000
J| 3,200
< 400
Al 400

HASs S822HF JHH=H AL 5,000 0 5,000




2N
X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - BAS %Ei HR=2
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301 LBt A= 5,000 0 5,000
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Al 2,500
01 Al E & A 462 5,000 0 5,000
OXdAS stE22I0IA XMHEHR=EH KA 5,000
& 2,500
Al 2,500
EQRIJI=EXEH ¥=H £ N 279,500 167,400 112,100
J| 223,600
=} 27,950
Al 27,950
301 et A= 279,500 167,400 112,100
J| 223,600
& 27,950
Al 27,950
01 M EXEE 252 279,500 167,400 112,100
Ost22IIEXH &¢=Hl 5 XN 279,500
J| 223,600
= 27,950
Al 27,950
HAASKE 234,959 242,460 ANT7,501
= 5,149
J| 131,356
= 43,696
Al 54,758
HEZHNoHA ESAE 2NN (A :2HH[+H &= 100,594 127,682 N 27,088
KA +EASH)
J| 73,117
&< 13,739
Al 13,738
307 QI2t0| ™ 100,594 116,226 N 15,632
J| 73,117
& 13,739
Al 13,738
11T A EXAIEEX 100,594 115,284 A 14,690
OJJEZY Lol ESAE 29 N 90,219
J| 63,154
= 13,533
Al 13,532
OJFE == It Y E&AHH| 1,375
J| 963
= 206
Al 206
OJIE =0l AMHES AL H =2 A MAY| 9,000
J| 9,000
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IHEES I A Xzsls 2208 2 224 X 19,513 0 19,513
| 13,660
< 2,927
Al 2,926
307 gl2tol & 19,513 0 19,513
J| 13,660
< 2,927
Al 2,926
01 2=zL =4l 942 0 942
ONEZZ Uikt 2=zt 942
| 660
< 141
Al 141
11T M3 SRASEEX 18,571 0 18,571
ONEEZIX XN23=2 220 18,571
| 13,000
< 2,786
Al 2,785
IHEEH Dol IS T2 29 7,374 7,374 0
J| 5,162
< 1,106
Al 1,106
307 gl2tol & 7,374 7,374 0
J| 5,162
< 1,106
Al 1,106
11 AIS S RAEE = 7,374 7,374 0
OJIE=Z€Itol A wEXNZZ2NHE 29 7,374
| 5,162
< 1,106
Al 1,106
HEEH AL 2HAR 73,690 74,334 A 644
| 36,845
< 18,423
Al 18,422
307 21201 A 73,690 74,334 A 644
| 36,845
< 18,423
Al 18,422
11T AISI S XA E X 73,690 71,700 1,990
ONEEGH4EA 28 N 73,690
| 36,845
< 18,423
Al 18,422
Htoyg dAdsd 5,000 5,000 0
301 L2 A3 5,000 0 5,000
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g d=1sd
Sl HEAUSH (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 364
09 HALAHIE& S 1,456 0 1,456
OEZHIAHANE SAA E=0= 1,456
J| 728
< 364
Al 364
&= Hioi X+ 2=Hl, 2tEH K& 2,634 0 2,634
J| 1,844
< 395
Al 395
307 21201 A 2,634 0 2,634
J| 1,844
< 395
Al 395
01 92724l 2,634 0 2,634
Od=ZdIlchi &t 2 =24l 2,634
J| 1,844
< 395
Al 395
Cherst DI ® X2 309,200 570,939 A261,739
= 215,600
< 37,320
Al 56,280
OlolE= XAMS(Ex) 309,200 323,213 A 14,013
= 215,600
< 37,320
Al 56,280
307 glz2tol & 309,200 323,213 A 14,013
= 215,600
< 37,320
Al 56,280
11T M SRASEEX 309,200 323,213 A 14,013
OO0t0I S 20l At 308,000
= 215,600
< 36,960
Al 55,440
ORZx 24UA 1,200
< 360
Al 840
otsdaYE 2% &8 28,119,514 29,136,815 A 1,017,301
= 10,911,960
X 300,000
J| 224,110
< 8,979,196
Al 7,704,248
d4H 2ste & 29 128,360 107,080 21,280
J| 16,180
Al 112,180




AN GEIEY
Hu: OlSHAY 22X X
Sl AW 259 & 29 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HAEXNEA B XX & 22,560 20,660 1,900
J| 11,280
Al 11,280
307 gl2tol & 22,560 20,660 1,900
J| 11,280
Al 11,280
05 BIZHRI & 3 22,560 20,660 1,900
OFAY =&HAIE XZ A BIXIXI& 22,560
J| 11,280
Al 11,280
S+HIZENY 22 L YN/ (EX) 5,000 1,540 3,460
J| 2,500
Al 2,500
307 glz2+0l & 5,000 1,540 3,460
J| 2,500
Al 2,500
05 Rzt E = 5,000 1,540 3,460
OFAEEANE 2208 29| 5,000
J| 2,500
Al 2,500
NEEAEEAHIZ? 29 4,800 4,800 0
J| 2,400
Al 2,400
307 21201 A 4,800 4,800 0
J| 2,400
Al 2,400
05 BIZHRIE 3 4,800 4,800 0
OFAE2IRAS 29 & 2,000
J| 1,000
Al 1,000
OFaxddNRA 2 X 2,800
J| 1,400
Al 1,400
FaH 2352 & 293l 96,000 80,080 15,920
307 21201 A 80,000 70,080 9,920
05 RIZt2IE = 80,000 70,080 9,920
OFaxdEsod 29 XA 80,000
401 Al HI K 201 I 16,000 0 16,000
01 A& Bl 16,000 0 16,000
OFAEUEsAE JIs22 16,000,000 x14) 16,000
otsdad 2sXd 2 B35 2,121,944 2,133,698 A 11,754
= 7,125
Xl 300,000
J| 207,930
< 56,018
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Sl OlSHAW BEXE U 25 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 1,550,871
daggas otstdlol 24 150,238 150,228 10
J| 75,119
< 22,536
Al 52,583
307 glz2tol & 150,238 150,228 10
J| 75,119
< 22,536
Al 52,583
11T M SRASEEX 150,238 150,228 10
OF3AELZ03tMI0 2 X& 150,238
J| 75,119
< 22,536
Al 52,583
da4 sotel XA 12,500 11,250 1,250
= 5,000
< 3,125
Al 4,375
307 21201 A 12,500 11,250 1,250
= 5,000
< 3,125
Al 4,375
11T M3 SXAISEEX 12,500 11,250 1,250
O&#AHE Sotel sX& 12,500
= 5,000
< 3,125
Al 4,375
dAWEs s NE 39,570 26,070 13,500
201 Let249] 5,570 5,070 500
01 At 224l 5,570 5,070 500
OFAES MHEZLS 1,500
OFaxYd B3 ZdtE M
80,000& »20H »23 320
O&EA~Y 23 EE22HM%E 1,000
Od4doy =5t3tE L& 2,500& +1,100H 2,750
301 et d s 14,000 1,000 13,000
01 MEI2EZE+06l= 13,000 0 13,000
OMASSE a4 483 1A 13,000
MIEE43 1,000 1,000 0
OHEAUEURMNEE MONELE L ESESEL 1,000
307 gl2tol & 20,000 20,000 0
02 It M AHE X 20,000 20,000 0
Ogxug EsSASXE 20,000
FLrERoHEE ZAIE XA 4,250 4,250 0
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CEBIE
OtEHAE =X

=K
OEHAE BENY Y £5

SN HH-S(BN) - MBAY - B il HlnE2

= 2,125
Al 2,125

307 glz2tol & 4,250 4,250 0
= 2,125
Al 2,125

02 It M AHE X 4,250 4,250 0
OFaAERMEE 2AH 29 4,250
= 2,125
Al 2,125

Hiad AdEgsSXdH 22 XNB(BX) 146,000 106,000 40,000
< 20,000
Al 126,000

307 21201 A 146,000 106,000 40,000
< 20,000
Al 126,000

05 QI & 3 146,000 0 146,000
O aEd=ENdH 249 146,000
= 20,000
Al 126,000

NAAS HAE SSXNAMH 29 90,100 87,670 2,430
J| 45,050
Al 45,050

307 gl2tol & 90,100 87,670 2,430
J| 45,050
Al 45,050

05 BIZHRIE 3 90,100 0 90,100
OFAY SEXNIMAH =294 90,100
| 45,050
Al 45,050

HFAESEHN} Z20Y8 29 58,322 58,320 2
| 29,161
Al 29,161

307 glz2+ol & 58,322 58,320 2
| 29,161
Al 29,161

05 RIZHRI &3 58,322 0 58,322
OHAUESELN Z208 29 58,322
J| 29,161
Al 29,161

st & HAE XN 78,000 69,000 9,000
| 54,600
Al 23,400

307 21201 A 78,000 69,000 9,000
| 54,600
Al 23,400

05 BIZHRIE 3 78,000 0 78,000
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M Ots¥3aE EX &
& otsEAE 83X & ES (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Ostn & Fa4d X& 78,000
J| 54,600
Al 23,400

HAHNZEM U SPEHUS N (EX) 9,250 9,250 0
< 8,000
Al 1,250

307 21201 A 9,250 9,250 0
< 8,000
Al 1,250

11T MISRAASEX 9,250 9,250 0
OBAHF2EM o SIDE20Y DS 6,250
< 5,000
Al 1,250
O3Ad A2 MNUHME =218 N 3,000
< 3,000

Fad EEXE 5,714 5,660 54
J| 4,000
< 857
Al 857

307 glz2+0ol & 5,714 5,660 54
J| 4,000
< 857
Al 857

11T MISXASEX 5,714 5,660 54
OHALAHEEEXNH 5,714
J| 4,000
< 857
Al 857

StNEHAMZ WERID XA (EX) 5,000 5,000 0
= 1,500
Al 3,500

307 21201 A 5,000 5,000 0
< 1,500
Al 3,500

11 ALSI S XAEE = 5,000 5,000 0
OstEY M=z UWERZ= X 5,000
< 1,500
Al 3,500

FAEANE &5 1,500,000 1,550,000 A 50,000
X 300,000
Al 1,200,000

401 Al HIZ 201 I 1,500,000 1,550,000 A50,000
Xl 300,000
Al 1,200,000

01 A& HI 1,404,600 1,538,516 A 133,916
OFadsgat HE 1,500,000, 000 *93.64% 1,404,600
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Hu: OlSHAY 22X X
el OtsEAYE 2SKd ¥ B (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 280,920
Al 1,123,680
02 Zeltl 90,000 9,222 80,778
OFadsgat HE 1,500,000, 000& *6. 0% 90,000
Xl 18,000
Al 72,000
03 Al =2 THHI 5,400 2,262 3,138
O A 1,500,000,000& *0.36% 5,400
Xl 1,080
Al 4,320
dAaE Adeldl sl 5,000 5,000 0
307 g2+l & 5,000 5,000 0
11T AISI S XA E = 5,000 5,000 0
OHM163 HRA EAE HAeld]l e 5,000
dEo & dA2Y 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
11T AISI S XA E = 5,000 5,000 0
020172 @il At 5,000
Aelat HaE M| &0tE 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T MISRASEX 3,000 3,000 0
OHM218 Xlcler EAE S M| &0tY 3,000
Helol & &A= 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T AL SXAEE X 10,000 10,000 0
OHM953l ielol S&X 10,000
ESANE 22X A 21,353,195 22,053,889 A 700,694
= 9,613,333
S 7,565,222
Al 4,174,640
ESANE =X &4 34,820 31,820 3,000
201 £B-2dH| 1,820 1,820 0
01 At 22l 1,820 1,820 0
OBEZ MG &2 70,0002 «13H *23] 1,820
307 glz2+ol & 33,000 30,000 3,000
11 AISI S XA E = 33,000 30,000 3,000
Oeold EsnXd /35 20,000
O0eold etdIBHs 23 13,000
ESAE MR H ZZ2 Y| 6,300 6,300 0
307 glz2tol & 6,300 6,300 0
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=
=
M OlsE L

H =X S
o9l BRAE 2YXNH EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 6,300 6,300 0
Oeold MRsIH 2208 X 6,300
ZOHOIEEAIE Wi 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
11T MISRASEX 2,000 2,000 0
OHOOF HEAIE WHuw-H X& 2,000
=0l sotS sl 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISXASEEX 10,000 10,000 0
OE=el sotsisl 10,000
EFAE SALL HRMHA 90,000 72,000 18,000
301 gtEd= 90,000 0 90,000
01 MI2ZE 6= 90,000 0 90,000
OBSwA Zeisg 90,000
SEWNHY A ¥ 2SN (EX) 5,273,263 5,990,787 AT17,524
= 2,636,631
< 1,318,316
Al 1,318,316
307 glz2tol & 5,273,263 5,990,787 AT17,524
= 2,636,631
= 1,318,316
Al 1,318,316
11T MISRASEX 5,273,263 5,990,787 AT17,524
ESnAHR oAH X 5,273,263
= 2,636,631
< 1,318,316
Al 1,318,316
PEDNHEY MM N (2E WA 207,314 0 207,314
= 103,657
= 51,829
Al 51,828
307 21201 A 207,314 0 207,314
= 103,657
< 51,829
Al 51,828
11 A S XA E = 207,314 0 207,314
Ogote BEX WAL 2124H| 207,314
= 103,657
< 51,829
Al 51,828
SEDNHY MM N (RAS2RSENMLH]) 669,656 0 669,656
= 334,828
< 167,414
Al 167,414




SH: OEISD
JC'\;IJ'(H: O}Ei—lAL, =2
2 =
S 2SAE 2Y

=
i

2

= N H

669,656
334,828
167,414
167,414

= HmnH

669,656
669,656

334,828
167,414
167,414

669,656

S2EDNAY MM N (sEESDA
&)

Jm
g
rJ
10

4

= W

110,113

52,854
16,517
40,742

110,113

= W

110,113
52,854
16,517
40,742

110,113

=z N H

110,113

110,113
52,854
16,517
40,742

110,113

510,171

146,341
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O&ss® NHoEEE JIs:Ed 7,000
O™ HOEZSE JIsEZ 6,000
OAMOIH HOIESHE JIsEZ 2,000
Ogud AHOIE=ZE JIsE2 28,000
OdsH SSHOE=E JlsE22 25,000
oY HOIE=EE JIsEd 25,000
Oz HOE=Z JIs2d 15,000
Ogn HOEEE JIs:Ed 10,000
O&Es HoleEsH JiseZ 10,000
HOIEEHE JIsBA(EX) 43,000 15,000 28,000
< 43,000
402 QI2H X201 M 43,000 15,000 28,000
< 43,000
02 QI EALEZ (OIS ) 43,000 0 43,000
Oz2XH HIE=SHE JIsEZ 10,000
< 10,000
OotiatH Z4d0t=S AHOEEE JIsEZ 8,000
< 8,000
O&ss¥ HMEANOEZSH JIsEY 10,000
< 10,000
OoEd HNOIESHE JIsEZ 15,000
< 15,000
LOSTAE JIs2d 40,000 55,000 A 15,000
402 RIZEXtE0| A 40,000 55,000 A 15,000
01 212t 2 AL E = (REM ) 40,000 55,000 A 15,000
otgtels SRANXE JIs2 40,000
LOQAANE HE(LASKAE JIsEL(EX)) 429,394 306,677 122,717
= 214,697
Al 214,697
402 2I2H X201 M 429,394 262,677 166,717
= 214,697
Al 214,697
02 QIZEHEAILSEZ (01X ) 429,394 0 429,394
OXeldt- e =SXHE FORIESAIE S ALY 229,550
= 114,775
Al 114,775
Os=2LUEXNUE FOIIESAIE S A 199,844
= 99,922
Al 99,922
COIMEAE 2 XE(EX) 3,659,050 4,265,640 A 606,590
< 2,392,791
Al 1,266,259
301 LAz 3,237,691 3,999,800 AT62,109
< 2,266,384
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< 126,407
Al 294,952
10 M2 SXNANEHE2IHEX 421,359 265,840 155,519
OLQ=SXAIL(ME THIH) SAX S 421,359
< 126,407
Al 294,952
Wt SXAIE 88 XA (EX) 1,934,557 1,373,436 561,121
S 209,929
Al 1,724,628
301 et d = 1,852,189 1,300,469 551,720
< 185,219
Al 1,666,970
01 MEI2EZE 45z 1,852,189 1,300,469 551,720
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Al 1,666,970
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Al 57,658
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05 BIZHRI & 3 500,000 480,000 20,000
Oko=X2 523l K& 500,000
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< 34,736
Al 44,384
307 21201 A 59,120 108, 120 A 49,000
< 14,736
Al 44,384
10 ALSISXAIEEE2GHEX 59,120 108, 120 249,000
Oke=sXa SAX S8 18,120
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Il 2,788
Al 2,788
SHLQ - SSHMQY S 2EAMHA 2EXA 10,488 0 10,488
Olze ) (2X)
| 5,244
Al 5,244
101 @14l 10,000 0 10,000
| 5,000
Al 5,000
04 J12ZtHZ22 s+ 10,000 0 10,000
OSsddgE Ml A 23| 10,000
| 5,000
Al 5,000
201 £B-2dH| 488 0 488
9] 244
Al 244
01 At 22l 488 0 488
OS¢ AL 23| 488
| 244
Al 244
HEEHLO BHBX)| NIANP(EX) 9,000 10,800 A 1,800
< 2,700
Al 6,300
307 glz2+ol & 9,000 10,800 A 1,800
< 2,700
Al 6,300
11T AISISAAISEE = 9,000 10,800 A 1,800
ONssELo B8 XD X2 (600) 9,000
< 2,700
Al 6,300
SN0 A2 24FAY X2 (EX) 50,000 0 50,000
= 35,000
Al 15,000
307 21201 A 50,000 0 50,000
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Al 15,000
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< 16,875
Al 50,625
307 21201 A 67,500 67,500 0
< 16,875
Al 50,625
11T MISXASEX 67,500 67,500 0
OR=ZZ A Y (90%) 67,500
< 16,875
Al 50,625
COIHAME(ER) 7,722 12,128 A4,406
< 1,158
Al 6,564
307 21201 A 7,722 12,128 A 4,406
< 1,158
Al 6,564
01 =LA =4l 7,722 12,128 24,406
OLQl H2EEHl X2 (1398) 7,722
< 1,158
Al 6,564
AMds BEES XA 308,383 1,185,525 ABT7,142
ZAAIE 308,383 325,525 A17,142
101 @14 Hl 26,817 31,089 N4, 272
04 JIZtHZ2XREES 26,817 31,089 N4, 272
Osstd Y2 & 8 M=z AR
65,0003 x5H *43] 1,300
OBSEX RN MY o2 6,054
Os3std 222 19,463
o 51,7603 x246 L «1H 12,733
Fed 51,7603 x52& «1H 2,692
Se2F+E 51,7603 1. 500 x52 4,038
201 YEr2 Y| 102,406 82,276 20,130
01 At 22l 9,000 9,000 0
Oul=l 3,000
Ossd - s3td 2¢ 6,000
02 3322l 93,406 73,276 20,130
Ossd A& EH |X2tel 48,000
Odt= sste deldlioly 2el
273,000& 128 3,276
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SA - ZE-B(EN) - NRAY - B S il &t o il RS2
O3 & HA 42,130
206 M= Hl 60,000 60,000 0
01 MHZ 8l 60,000 60,000 0
Osstd JtA Fadl 5,000,000& x12& 60,000
307 gl2tol & 2,160 2,160 0
05 BIZHRI & 3 2,160 2,160 0
Ossd s3tg A 23|
90,0003 123 24 &= 2,160
401 AIEHIZ 28I 117,000 150,000 233,000
01 A& Hl 117,000 150,000 /33,000
Setd stE=2 Fl 117,000
HH2F A 64,600 92,571 AN 27,971
Jl=234l 64,600 63,200 1,400
Jl23Hl 64,600 63,200 1,400
201 Let249H] 23,400 23,400 0
01 At 22l 22,400 22,400 0
O&EII=EL =2l 5,000
Oget=&H| 17,400
02 =24l 1,000 1,000 0
O=323<LHA 1,000
202 O4dl 37,000 35,600 1,400
01 = LH o4 HI 37,000 35,600 1,400
O=3UWoHI 36,400
OFAadsEa A=A FUHAH 600
203 YR =&l 4,200 4,200 0
04 EANSI LRI 4,200 4,200 0
ORM2IYRFLH 4,200
He&s 50,000 50,000 0
HEAHHK = 50,000 50,000 0
g &3 50,000 50,000 0
702 JISEEZS 50,000 50,000 0
(O RWIE=RSE= 50,000 50,000 0
O &d4msII2 ds2 50,000
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